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Krypton is a chemical substance. ‘ O
Krypton has a constant of 2F O
proportionality between its mass o~
and volume. The constant of % ‘ % /IS‘
proportionality is 3.75 \ﬁj %,’H)( S e
grams/liter. E /L /’ 05
;% Use the Add Arrow tool to graph L‘ ,g
\5 krypton’s proportional
IT relationship. d : }; : é et 1:; x
constun Volume (liters) F— (5e_+iha gj‘(aph
o P Aele
TSy Hhe
3 Melanie has a spinner and a deck of cards. LUt on
* The probability of spinning an even number on the spinner is % oM LlO"/,
* The probability of drawing an even number from the deck of cards is -15—3 %%,SO/Q
Complete the statement to compare the probabilities. U/\MG)«C e\ﬂ( (oS O
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A school holds an electi
5 I/‘ ' on for class
[ * shiown i the circle graph, president. The Percentage of votes recejved by Taylor, Alex, and Cameron are

School Votes
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What percentage of the votes did Taylor receive?
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*él 6 : Match the equivalent expressions. @@@@j
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Select the inequality symbol and enter

a value to represent the solution to the inequality.
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Select all th i
€ representations that show a proportional relationship between x and y.
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This question has two parts. wUY‘O‘ W“’_)_ : :
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Omar uses a laser printer that printn Monday, he prints 8 pages. On Tuesday, he prints

more pages. Omar prints a total of 143 pages on Monday and Tuesday. Let m be the amount of time, in_minutes, he
spends printing on Tuesday.

Part A
Create an equation using m to model the amount of time Omar spends printing on Tuesday.
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Part B
How many minutes does it take Omar to print the pages on Tuesday?
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Bill m
) g akes an error when evaluating the expression shown
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Part A

Click on the step in the first column of the table where Bill’s error first appears.
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Part B
3 5
What is the correct value of the expression ( 2 '4(2) ) >
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( O.A spinner Is divided into 4 equally sized sections. The sections
are blue, green, red, and yellow. The results o 1000 spins)are shown
in the table.
Results )
reen ONSYnnex” o
Color | Frequency Weo : _\_—@ 22 26 / >
Blue 470 U wotad ecolods
Green 254
Red 144 7%‘1 i o
§ % -
Yellow 132 ex? : geir ?6.‘/‘ /O
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Jeffrey claims that of the four colors, the experimental probability of
spinning green Is closest to its theoretical probability.

Complete the statement to evaluate Jeffrey's claim, then enter the theoretical probability of spinning

green. 2

Based on the results, Jeffrey’s claim is(_/ls)or is not \ |because the experimental probability of

the spinner arrow stopping on green ¢| the closest of the four colors to the
theoretical probability. 7 irue y" false )
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The theoretical probability of spinning green is nglg
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